Antworten
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Dezimawert mit Blocken ermitteln
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Name:

Dezimawert mit Blocken ermitteln

C
()]
bt © <t N — N <t (@)
o K| o d o @ < w o o O
S & 5 S| N o g @ o qf o
zl © S [ | | ]
cC
<
— [\ ™ < To) © N o0 o m
E
o) B
lmmv ECTCETETD
o) CECTTOTTD
el O
CELTETTD
m CECTTOTTD
> T
Q Ensmamnnns EEszammzs
N CETTTITTD T [
ﬁ CITITITITD T H
CETTTITTD BEE CCOTCITITID
B T SR el ! T
S LTI -
- ECTITITD EREEEEEE TEEEEEEH BB
) T Emzzmms R ERRERERRE
= COCIOD mE@ H O
O DBRBO - (EEERERAREE]
5] CCCCCCIrTD CCCCTTITD H EmmmmmmEEE
© T (=ln) COCTTITTD CCLCEEITD
m NN SN oo O ] ] [ |
S HHHHH HHHHHH EEEEEEEE e “ EEEEEEES|
a u W HHHHH HHHHH HHHH u HHHH
= m ” u W = w m)
Aa\w a m I N o u o
7 l 1 -
S i i i i P
= HHHH HHHH _ _ CEED
£ HHHH HHFHH _ ————
- - BEEES -
S . O m W m
= i |
g O ” \
% 2
(@)
o O
S - - — — — —
.m o I I I I I I
o H
@ &
55
=
T g
= 2
W.W N © )

1-10 90|80 70|60 |50]40]30]20[10] O |

[ Mathe ] www.CommonCoreSheets.de



	Worksheet
	Lösungsschlüssel

